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— By yaws 1nta Yo 7Inl
He gave it to him; in the time, he swears and takes

OVERVIEW

The Xn>72 teaches of a case where there is a dispute between the owner (2"7¥v2)
and the worker (the 121X) as to the price of the job done by the 7K, where the 2"7v2
said it was one 17 and the 12 claims two. The ruling is if the X returned the
repaired item to the 2"7v2 and is claiming his pay within the proscribed time,' the
1IN is believed and he swears that the fee is two 2’117 and he collects it.>

nvoINn asks:
- %9 YYD DINY IIIN PIN (0w 3,207 97 8980 x32) TAPNN PI9 9N NN 9NN ON)

And if you will say; but in ®2p»257 P15 the Xn>>12 states regarding a case where the

1R claims, ‘you fixed the price for me at two’ oonr -
- 5T YO NPT NN 1YY 1953097 NOSNN NHNN XIN 79 INLLED XY 1IN N

And the employer claims, ‘I only fixed the wages for you at one’ 17, the rule is
7"vn, and the 12X must prove his case; otherwise he receives only one, for

regarding the wage the employer certainly knows what wage he agreed to.> We have a
contradictions between these two Nn>13; in our XN»12 the 12X is believed (P01 yaws), and in n"a
the 2"7v2 is believed (7"vnm)!

NIDOIN answers:
= 1199 799 (0w x,m 97 maw) PPYAYIN DI D929

The X3 in PYaws 9o P92 asks this question regarding the contradiction between the two

mn»A1 -
= 1993192 NIN 11907 9997 KD 923 NYIEPT NTINS 2295 NINT TNT W)

And answers that this Xn>72 here which believes the worker, is according to 5"

! However if it is after the proscribed time for receiving payment, the rule is X771 Y9y 12 ®¥nm; the worker
must bring proof as to the agreed upon wage; otherwise he receives what the employer claims.
2 There is a general rule regarding an employer and employee in a case where the employee claims he was not paid
yet for his work, and the employer claims that he paid him already, we rule in favor of the employee (if he made his
claim with the allotted time for payment), for we assume that the employer is busy with all his employees and
became confused, and thought that he paid this employee, when indeed he did not. The employee swears that he was
not paid, and collects his full wages. Presumably the ruling in our case here is in accordance with this general rule.
3 The xm3 there distinguishes between the case where the argument is whether the worker was paid or not (in which
case the worker is believed, since 193192 7170 2"7v32), and between the case where the argument is what wage was
agreed upon (where the 2"7v2 is believed, for ¥>7° ¥y7n 7X°Xp).
4 A marginal note amends this to read P92 (instead of P92%). This question and answer is cited here in MaMN (even
though it is an explicit X3), in order to set up the following question in NHOIN.
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who maintains that the owner does not even remember the agreed upon wage,

since he is preoccupied with his workers, and the xn>>2 in n"a follows the opinion of
the 7127 that ¥y>7 y7n 7¥%p.

mMooIN asks:
= NI 1TV 195201 NININD 9N ININ 2133 13T 9NND 19 ON 9NN ON)

And if you will say; if indeed it is so, that we are following the view of *"9, so
even if the worker is making his claim after the proscribed time, why does the

Xn>72 rule in this case that 7'"'v%57, and the worker loses -
- HVIN YY) INAY |9 7N

The &n>72 should have ruled that the 72X swears and takes what he claims!

Mmoo explains the logic behind his question:
= 71P3aWIn Y9 YA U917 1) YaW) 1INT 59901 INND SNNTYA 1399N NNIYL INNT

For what is the reason that we say elsewhere regarding a dispute between the
worker and the employer; if the worker made his claim that he was not paid, after
the time (when he needs to be paid), the rule is that he cannot swear that he was
not paid and take his wages (even though there is the X120 of 123192 7170 2"v2),

as the X3 explains in the beginning of ywyawi %5 7o -
= %191 8523 92y %3N HYA PRI 199V NNYN 999V PNT IPINT

For there is a presumption that a hired worker will not wait that long for his

wages, and the 2'"'77v2 will not transgress the prohibition of y°%n %2 -
- 19 2950 1YY HNN Y NEPY DINT 93Y %27 H¥2) 999Y NNY S9N N9

5 This is referring to the general rule that in a dispute between the worker and owner (whether he received payment

or not), if the claim was made 1272 (see footnote # 6), the worker is believed (since 123192 7170 2"7v3), however if it

was made 17 RY (after the proscribed time when the employer must pay the worker), the 2"77v2 is believed.

6 13m7 (the time proscribed to pay a worker) is the next half day after he finished working; for a day worker it is the

following night, and for a night worker it is the following day. Any claim made after that time is considered X>w

1172, See footnote # 8.

7a,an nynaw.

8 The 770 writes in »,0° (2'W172) R that 912 7y IR 5w N ws 1on K91, This is referring to a day laborer that he

must be paid the following night, before day break (see footnote # 6). The owner does not want to transgress this 182,

so he makes sure to pay him on time.

% Therefore when a worker claims 117 91X that he was not paid, so even though there is the 8720 of 7170 2"7W3

193192 (which should support the worker’s claim), nevertheless there are two m120 that he was paid, because a) a

worker does not wait to be paid, he wants his wages immediately, and b} the owner pays before 147 is over, for

otherwise he will be 12w a W>. This is the reason why X193, the worker is not believed war 2nxY, since his claim

contradicts these two mpin.

10Tt is necessary for maoIn to point this out (instead of saying that since the dispute here is whether it was one N7 or

two, but not whether he was paid or not, so seemingly the whole idea of 72w 2"7va XY AAwn W PR is moot)

because otherwise we can ask how can we believe the 7°ow that he is owed two, since 7wn °OW PR and 2"7va PR
2
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However here (where they are not disputing whether he was paid or not, rather the
dispute is the amount of wages they agreed upon), so we see that the worker
tarried, and the owner transgresses the X, for he admits that he agreed to one
17, and he still owes it** to him (a1 nx%) -

mooIN anticipates a possible solution to his question:
- 1299 y1PI9) NNR RIN 79 INSYP XY 9NT 199 3999197 99515 XY

And we cannot answer that we are discussing a case where for instance the
owner claims, ‘I only made up to pay one 717, and I paid you the one 11’ —

mMooIN rejects this answer:
= 1n8P5na ANTIN KPR 1NN 131D 9PN NN 9295 NN DI Yaw) INNN 1IN )5 ONT

For if indeed it is so that the owner claims, ‘I owe you nothing’, why then is the
rule that if the 7°>w made his claim Y2 that he is ®wy yaws, for since we

established this Xn™" 2 according to >''9, but he requires a partial admission in
order to rule 201 yaw1 —

mMooIN anticipates another possible solution to his question:
= 159995 Haa 93y NHT INNYN TNV 19 ONIKPY HNNX AR 9DINY 113 19 NIND PPN

121y, therefore oI explains that in this case it is not an argument since we see that this "2 is 77w (and similarly
this 2"7y2 is "2w).
' We cannot say that we should not believe the worker that he was not paid (two 1), since 7wn 2w X, for the
7"5w can rightfully claim that he is the type of 7" that is 172w 77wn, for both agree that he did not receive his wages
at all up to now (n1 nxY). Similarly we cannot say that the 9°5w should not be believed, since he is accusing the
2"nva of being 2w, this is not so, since the 2"ny2 himself agrees that he was 22w for withholding the one 17
Therefore we should revert back to the X120 of Y7192 770 2"nv3, and award the worker his claim (501 vawi)!
12 The owner therefore is really claiming ‘I owe you nothing’, so we can use the ApIn arguments against the 72w,
which support the 2"7v3, namely that 10w 77w 0w PR and P20 92 72w 2"7va PR. The ow must by lying, for he
surely was paid. This would explain why the 25w is not S0 yaw.
13 See (footnote # 4 and) previously in this N0 (after footnote # 4).
14 According to >, we only say 20 vawa if there is a partial admission from the 2"7v3; the 92w claims, ‘you owe
me two’ and the 2"7va claims, ‘I owe you one’; it is a case of n¥pra 771, so instead of the owner swearing that he
owes only one and swear a n¥pna 77 N¥12w and be 7w, the 031 in order to appease the worker, instituted that the
worker swear that he is owed two and he can collect. However if the 2"nva is a 9377 7912 (where there is no 712w
n"nn), the 0°nomn never instituted this rule of v ¥aw1 according to ™.
15 This will (seemingly explain both cases; if it was 11212 we rule 0 ¥yaw1 since the 2"7va is a n¥pma 77 (for the
2"7v32 admits that he owes him the one). And when it is 1312 X, the 70w loses because the 2"7v2 was not 1°2n 72 12w
in this case. MoOIN original question was that the 72w loses only if his claim implies that the 2"7v2 is 1°2n %2 "W
(which is untenable), but in this case (as we initially understood it), the 2"nv2 admits that he was 721 on 1°2n 9.
However according to this yon% PRy, the 2"nva does not admit that he was 221, it is the 95w who claims that the
2"7va is 10 92 12w on the second 11. The oW only agreed to wait for the wages of one 17, not the second 1.
Regarding the second 11, the 7°5W is accusing the 2"7v2 of 120 93, therefore his claim is unacceptable. Everything is
seemingly understood.
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And we also cannot answer, that we are discussing a case where for instance the
2"7va said, ‘this one 77 that I made up with you, I held it back with your
permission’, so the 2"7v2 did not admit to transgressing 3°>n %2 —

mooIn rejects this answer:
= DNN NNV 2907 16X 190V NNWN 2V PRT NPIN 01PN Yot

But nevertheless the other 11717, against the 7°Ow, which is that gmwn 990w PN,
does not exist, for we see that the 7°ow was 7772 one 117 —

MooIN rejects a possible response
$NPY RY NNYY RDT 1813910 RDT NI 17NN0Y NNOYT 1I0INT INRNT 9D P

And it is unreasonable to assume that this which we saw that he tarried (the
one 17), he was wn, however this which we did not see [know] that he

tarried, he was not 7777wn; this is a pm7. Our Mo0N does not answer the question, why is he
not believed even 11 x>,

SUMMARY

Seemingly in the case where the 75w claims two and the 2"77v2a claims one, where
the 70w, is not contradicting the two Mpin of 77w, 7w X and 72w 2"7v2 PR, the
7°5w should always be %0111 ¥aw1 even 1317 IR (according to >").

THINKING IT OVER

We are saying that a 9°>% should not be believed, when by his claim he is accusing
the 2"1va of transgressing the X7 of 172n 2. Why don’t we rather say that the 2°ow
should not be believed because by his claim of *% nx¥p o°nw he is accusing the
2"7v2 of transgressing the W% of P1wyn X?; he is robbing the 7°5w of his wages?!

16 In order to counteract the X120 that 1°7¥192 7w 2"7wa (which supports the 9°>w) we require two opposing Mpin,
one that 7wn W PR and two that 121w 2"7va PX. In the proposed answer just given, there is the 7pm of 2"nva PR
121 (which contradicts the claim of the 7" [see footnote # 15]), however the second 7P of [nwn oW PR does not
contradict the 7°2w in this case, for all agree that he was nwn (at least one 117), therefore the 1°2w can claim that he is
the type of 70w that does not rush to receive his wages, so why should we not believe him, since only one 7pin
opposes him but not two (see R"wImn).
17 One may argue that the 72w, who is claiming (3327 71X?) two, is contradicting the npin of A7wn oW 1'%, and even
though we know that he was 717wn one (both agree to that), nevertheless we can argue that he was willing to forgo
partial payment on time (one 17), but we will still assume that no one is willing to forgo and wait for his entire wage
(of two '111), so the 127 is indeed contradicting the other 7P as well. However, m501n maintains that this is a pm?7,
presumably because a person who can/t wait for his wages will not wait even for a partial payment, and one who is
willing to wait for a partial payment will just as likely wait for the entire payment.
18 The n"2n1 mnan amends this to read 7w KX» AmwT 1010 (instead of 87 11017).
19 See w"x17 Moo,
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